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SECTION A
Answer any 4 in the section A. Each carries 2 mark
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If the algebraic form of an arithmetic sequence is 3n + 2
then find its first term and common difference
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A circle is drawn on one side of an equilateral triangle
as diameter. Where does the opposite vertex lie? Is it
outside ,inside or on the circle?
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ABCDEF is a regular hexagon. The vertices B, D,G
joined together to make a triangle. The triangle so formed
is shaded . A fine dot is placed into the figure without
looking. What is the probability of falling the dot in the
shade?
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The sum of a natural number and its square is 30. Write a
second degree equation by taking x as the number. Find
the number by solving this equation.
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Triangle ABC is an equailateral triangle. If
A(3,0), B(—3,0) then find the coordinates of C.Calcualte
the area of the equilateral triangle.
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Ifsin A + sin B + sin C = 3 then find the value of sin® A 4+
sin® B + sin® C

SECTION B
Answer any 4 in the section B. Each carries 3 mark
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The algebra of an arithmetic sequence is 4N + 7.Find the
sum of first n terms of this arithmetic sequence.Calculate
the sum of first 30terms of this sequence
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Draw an equilateral triangle of circumradius 4cm,write
the length of the side by measuring it
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Calculate the probability of getting 5 Mondays on the
month December
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The sum of two numbers is 9, the sum of their reciprocals
is %Find the numbers by solving a relevent second degree
equation .

ABC AB = 18cm, BC = 12em/ZA = 40°
In triangle ABC, AB = 18cm, BC = 12ecm/ZA = 40°.
Calculate the area of this triangle .
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A point starts from (—2, —2)moves the distance 4unit up
;reaches B. It turns right moves 6unit forward reaches
C. It turns left moves the distance 4unit forward. Write
the coordinates of B, C, D. What is the shortest distance

from A to D

SECTION C
Answer any 10 in the section C. Each carries 4 mark

B3 NIaNIBINOTIONG 8SI6NISB TVAMMEE(GEHIOIRIEM” . aQ
Q130 2151w esoam 120°@rem” | ©w10m3aEmOaVo D.6nlan3E3eRODSNT
a)(@ QIREBBSIBOVIGIeNo ?

The angles of a polygon are in an arithmetic sequence.
The smallest ange is 120° and the common difference 5.

Calcualte the number of sides of this polygon
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Draw the coordinate axes and mark the points
A(-6,6), B(6,6),C(—3,—2), D(3, —2).Suggest a suitable
name to the polygon ABCD. Calculate the area of this
polygon
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The top edges of two towers of height 20meter and 14
meter are joined by a string. The string makes 40° with
the horizontal. Calcualte the length of the string
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In the figure AB is the diameter of a semicircle. There is
a semicircle whose diameter is same as the radius of the
first semicircle. PO is perpendicular to AB. Prove that
triangle OC Bis an equilateral triangle
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One perpendicular side of a right angled triangle is 7 less
than the other. The hypotenuse is 13cm .Calcualte the

sides of this triangle .
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In triangle ABC,ZA = 70°, ZB = 80°, radius of the cir-
cumcircle is 4cm. Construct the triangle.
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Each of the two digit multiples of 7 are written in small
paper pieces and placed in a box.How many paper pieces
are there in the box. One of them is taken at random.
What is the probability of getting an even number. What
is the probability of getting a multiple of 57 What is the
probability of getting a perfect square.
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The sum of the first n terms of an arithmetic sequence is
3n? + 4n. What is its first term and common difference?
Write its algebraic form. Can the sum of any 25 terms of
this sequence 2018
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A circle is drawn with the origin of the coodinate system
as the center. (3,4) is a point on the circle. Find the
radius of the circle. Write the coordinates of eight points
on this circle. Also determine the co ordinates of P
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(3,6),(—3,4) are the points equidistant from (x,y). Es-
tablish the relation between = and y. If this point is on
y axis , write the coordinates of that point
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A tangent is drawn from a point to a circle at a distance
6cm from its center. If the tangent has the length 4cm,
represent this geometrically by a construction.
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Draw a circle and mark a point on it. Without using the
center of the circle draw a tangent to the circle at that
point. Write the geometric principle for your construction

SECTION D
Answer any in the section D. Each carries 5 mark
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ABC, AB = 6cm ,/A = 40°. Mark a point C such that
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the side opposite to C' has minimum length. Find the
length of the sides of the triangle .Calculate the area of
the triangle .
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The sum of the first 7 terms of an arithmetic sequence
is 119.The sum of first 17 terms is714. Determine the
algebraic form of this sequence. Write the sequence .
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The numerator of a fraction is 3 less than its denominator.
If 1 is added to the denominator the fraction is decreased

by %.Find the fraction
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The angle of elevation of an aeroplane from a point on
the ground is 60°. After a flight of 30 seconds the angle
of elevation change to 30°. If the plane is flying at the
height of 3600v/3 m, find the speed of the plane
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In a triangle one side is 6cm and opposite angle is 60°.
We know that the perpendicular bisector of the chord of
a circle passes through the center and the angle between
chord and the tangent is equal to angle in the comple-
ment. Using this construct such a triangle. How many
triangles are possible. Expalin
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How many chodrds can be drawn by joining 11points in

a circle

2This paper is prepared on the first seven chapters.This is

not a model paper. Prepared for the students expecting higher
grades



